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addazy1
ﬁ T - I/PART -
S5t pEVELOPMENT AND TEACHING METHOD
a2 1 1. Kohler is associated with which of tp,
" e e @ d following ? )
(1) e & e } (1) Theory of Motivation
) e % R \ (2) Theory of Learning
) =R ® e (3) Theory of Personality
) fara & R (4) Theory of Development
2. e S wafeai s gt @ 2. According to McDougall the number of
(1) 15 (lll:llstmcts are
15
2) 10
(3) 12
14
4) 14
3. Wgﬁgﬂgﬁqnm?rmﬁﬂﬁﬁ 3. Brainstorming Model of Teaching is
T&:EWI%@ TR ? used to improve which of the following ?
:2)) BEE (1) Understanding
S A (2) Problem solvin
A3) GeEE .
s . (3) Creativity
AT (4) Application
4. ﬁqﬁ%ﬁ'ma.‘w'mﬁwm? b ;
) ! . Dog was the experimentee in whose
rﬁ; = experiment ?
(2) 313?1( (1) Skinner
(3) iHer= (2) Kohler .
() e (3) Thorndike
< (4) Pavlov
2 mél !;Ellswmmm
fﬁ%}? : _ ﬁqﬁﬁ;@; S. Originality, flexibility and flow are the
(1) 3z components of which of the following ?
(2) afnron o (1) Intelligence
(3) =g (2) Motivation
(4) GTeraRa . e (3) Personality
" N S (4) Creativity
1) wwhk . @) fory 6. Combat is
) B) e @) (1) Instinct (2) Thinking
aper - 1/¢ (3) Imagination (4) Emotion
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5. i e 1 O g e Pt 3
HA-T2 7 :
(1) vt foera & fivrar i fram
2 FeuAT S Gamenes fohrE & @y &
(3) gafrm"[ﬁmaﬂﬁm
(4) sitafi faemm < Fam

9. Tiefuag HaweH-ar e @ e @i 8 7
(1) STgeRferd S T
T i @ fagrd
(3) TRy i g
(4) Frea o 1 fer=t

10. ‘“‘Faarg & iom weq o fafward 3 A6
ARl YR B & TR T Ry
(1) e
IR S
(3) wife
g) TATH

11. o 39a 3 STUR W G361 9 379 Sa e

ETin B
(1) g

_® Hfd

12, Hiw # ¥ 9 v % Rrg &1 wRed
Forerd e 7

(2) fa=m
(4) weafteRton

(1) ) e
(3) eiifere (4) T
Paper-1/cC

7. Factors affecting the social de

10‘

11,

12,

of children are Velopmep,

(1) Economic elements

2) Hereditary elements

(3) Physical elements

) Social environmental elementg

which of the following is a primary lay
of Physical Development ?

(1) Law of difference from mental
development

Law of relation from imagination
and emotional development

(3) Law of rapid growth

(4) Law of irregular development

(2)

Which of the following is not the theory

of development ?
(1) Theory of Conditioned Reflex

(2) Theory of Uniform Pattern
(3) Theory of Interrelation
(4) Theory of Continuous Growth

“Development results in new
characteristics and new abilities” this

statement is given by

(1) Gessell
(2) Douglas and Holland
(3) Meredith
(4) Hurlock

Giv%ng meaning to.sensation on the
basis of past experience is called

(1) Imagination (2) Thinking
(3) Memory (4) Perception

Who has propounded the law of trial
and error of learning ?

(1) Kohler (2) Gestalt
(3) Thorndike (4) Pavlov

[ P.T.O.
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@fets & g 13. LQ. Level of average intelligence %
13.  fwa gfy ot et &1 9 children will be between 19. 3
(1) 70-79 (1) 70-79 (
(2) 110-114 (2) 110-114 (
3) 90-109 -~ (3) 90-109 f
(4) 80-89 4) 80-89 ¢
. (l
149, faiaay el mgﬁ%ﬂﬁﬂﬁ ED 14, who among the following has Proposed
i § 7 Fluid Mosaic Model of Intelligence ? 20.
(1) Ra (1) Cattell (
(2) fermr (2) Skinner {
(3) T’Tih - (3) Vernon (
(4) s (4) Thorndike ‘
15. fem THa frmy Trera =1 wftares fe 15, Operant Conditioning Theory is
(1) = PTropounded by 21.
2) (1) Hul
) (2) Skinner
(3) ¥ _
5 (3) Hegarty
(4) e - (4) Thorndike
16. ﬁﬁzﬁnﬁﬁquﬁ@fm 27 16. Blue print is an Important component
(1) qﬁmﬁqfq . of which of the following ? 29
(2) Ty 3 (1) Test construction |
(2) Test Scoring
(3) o ey (3) Test administration
(4) weror Qe (4) Test validation
17. ﬁwwfﬁ‘ﬁhiawr Wﬁﬁﬁ%ﬁmm? 17. Pre-operational Stage is the stage of 23.
(1) gw development Proposed by
2) frx (1) Bruner
(3) Treer (2) Skinner
(3) Kohler
4 fE= - (4) Piaget
18. . 1. 1. a1, wéieor ST B ey | 18, M.P.P.L is a test used to measure which 3
A9 1 R St 27 of the following ?
(1) =afae (1) Personality
(2) FFTererar _ (2) Creativity
(3) wwnfey (3) Achievement
: (4 :
(4) g (4) Intelligence Pap
Paper-1/cC 4
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21, Sreer T v @ 7 g T = 4 6
e
(1) o TR T e
) e T SRR A
(3) <RI H T & AR
(4) T T B S
mm%ﬁﬁmﬁ%mmﬁﬁﬁ%ﬁm
(1) v Sl
(2) =@~
(3) Frerdf -
(4) T

3. Trefufas & ol 3 SUR sAfaied o o=
v i ==t fra e ?

24, ‘gETCA T R @ st F
6t nafes ufFEa R || wEwE R
(1) e FHH
(2) MEHH .
(3) SEMH —f
(4) éaﬁﬁfm/

Paper - 1/C

19.

20.

21.

22.

23.

24,

. |

which of the following is most sl
for learning ?

(1) Motivation

(2) Guidance

(3) Maturation

(4) Interest

The periocl of infancyhood is
(1) From 12 years to 18 years

2) Upto 15 years
(3) From birth to 6 years
(4) From birth to 2 years

Through his experiment Kohler wanted

to prove that learning is . '

(1) The perception of whole situation

(2) Human learning is purposeful

(3) Better in animals than human
beings

(4) An independent activity

Who propounded Five Step System’ of
lesson planning ?

(1) John Dewey

(2) Bloom

(3) Kilpatrick

(4) Herbart

Who described different types of
personality based on Glands from the
following ?

(1) Kreshmer

(2) Sprangar

(3) Cannon

(4) Jung

‘Creativity is a mental process to
express the original outcomes’ — the
statement is of

(1) Cole and Bruce

(2) Crow and Crow

(3) Dehan

(4) Drevahal

[ P.T.O.

Scanned with CamScanner




(1) S==ITd maﬁztﬁa@%ﬂ
(2) e S

3) W@W%
(4) itqaaar & Feraed

o v ) g ———
Tt frar g |

(1) 3x (2) e

(3) wifers yw '

‘el gt g e o g A
T Sy ¥ TR FH D

(1) smw
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26.

27.

28.

29,

25.

26.

27.

28,

29,

30.

o
inner lang, @
. to B.F. Skinner X
gcCZf:;rrfent in children takes Plag
. As an outcome of inborn

i ability L .
(2) iaspan outcome of training in pray
rammar L
(3) is an outcome of imitation ay -
inforcement .
(4) rAeslgn outcome of maturity EE‘%
I

Instincts are classified in fourteen 33
types by
(1) Drever

(3) Thorndike

b2l

(2) Woodworth <
‘ Bci
|

‘Attention is the concentration ¢ ¢

consciousness upon one object rathe

9
than upon another’ this statement i .
related to ;

(1) Dumvile S
(2) McDougall 1
(3) Munn :
(4) Ross

(4) McDougall

Whose name s associated with ‘Father
of the Eugenjcg’ from the following ?
(1) Crow and Crow

(2) Woodworth
(3) Ross
(4) Galton

Which test is

Dr. s, Jalotg
children of 12

I_)mpounded by
in Hil’ldi for the
to 16 years ?

(3) Army Alfy Test
(4) Generg] Menta) Ability Tegt

Who propeunded the
Theory’ of intelligence ?
(1) Thorndiye (2) Stern

(3) Vernon (4) Spearman

‘Two Factor
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T d. 31 - 35 : A reri Y v FeAfifad
g7t % fareheq BIfeT :
e o S A %|wﬁaméﬂmh°rmﬁﬁl

T Ve 1 T 9g e & | 3f gHerRet 1 AT I
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F TR AT AR | T S S & | e HE

s & | g 350 AT 1 YR T ST A e
w1 | 35 TR o1 1 3 g 7T
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T T R I A FHET GO TEhiaeh Thal &
fora, v 3 fRw, Afer end < < & o SiereTd &
el | 8@ T e &l Hehl |

31. YRS VR AFIA-WIER? -~
(1) s, (2) =g

@) o, (@) 3

32. WETER W@t 1 S Rl g AT ¢
(1) Ty

(3) FR

Wffaﬂq—‘eﬁaﬁr%?
(1) fomnt (2) = -~

33.

@ m (4) &
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34. WEIH & A 5 & W o o 3oy

a1 fepa off ?
(1) 129 (2) 80 =4
(3) 45 (4L 357
35, ‘‘gfawd wwmINd g7
(1) S=ad (2) WWFwd —
(3) ufeem ad (4) sitgud
36. HIAWWEEAE
AR (2) 3T
(3) qH= (4) Harsa
37. ‘9N gadd o wH-g1 fawmur g ¢
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(1) ¥ (2) @~
(3) ¥ (4) 8=
40. ‘3@ i ffrt 2 aref 2
(2) wgd o &
(3) FeEEF BT
(4) wi@r
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(3) HaorE 4) @ -
47. &= gy Sifeaid
(1) 15 2) 22
(4) 25

}],18

48. ‘mmive’ wes f qw e i yewg

AT S + 35 (2) < + 3%
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49. ‘o’ whiH % werem w4
(1) e syt
(2) Racw
(3) & v e
(4) o var fgm
50. e T o gAY,
7% i i 4 7 1 0 e
(1) foamfy
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M) ghie 2
(3) siftramy L; mmlha'd
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61

62.

9T — III/PART — III

qTaT

what kind of adjectives are used in the

following sentence ?

A live ass is better than
(1) Descriptive

(2) Quality

(3) Indefinite

(4) Quantity

a dead lion.

Which of the following has been
misspelt ?

(1) deciduous
(3) governence

(2) entrance
(4) ambiguous

pick out the correct synonym of the

63.
word :
attenuate
(1] rgpcnt (2] rnake thin
(3) divide (4) force
64. Pick the sentence with the correct
conjunction :
(1) No sooner had we reached the
station but the train left.
(2) No sooner had we reached the
station and the train left.
(3) No sooner had we reached the
station when the train left.
(4) No sooner had we reached the
station than the train left.
65. P-ick out the suitable antonym of the
given word :
judicious
(1) imprudent
(2) careful
(3) silly
(4) sagacious
66. "I“he meaning of the idiom
to put out” is
5 T () To
(4) To wait
Paper - 1/C

68.

69.

70.

71.

_ 11 : sidsft / Language — I : ENGLISH
67.

The sentence : “ This is the house in
which I was born”, is

(1) A simple sentence

(2) A compound - complex sentence
3) A complex sentence

(4) A compound sentence

Fill in the blank :
‘The objection was met out

the lawyer’.
(1) with (2) from
(3) by (4) to

Fill in the blank :
“« of playing, the children

went home”.
(1) Being tired (2) While tiring
(3) Having tired (4) On tiring

Join the following sentence to make a

simple sentence :

The coffee isn’t too strong. It won’t keep

awake.

(1) The coffee isn’t too strong to keep
us awake.

(2) The coffee isn’t too strong so as to
keep us awake.

(3) The coffee isn’t too strong so it won't
keep us awake.

(4) The coffee isn’t too strong and will
not keep us awake.

Complete the following sentence with
correct Conjunction :

: he had not paid his bi
his electricity was cut off.p e

(1) But
(2) As
(3) Unless
(4) Either

| P.T.O,
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v speech 11
ré
ﬁ he corT ect fiE"
€ e.
72. Choose th€ ™ onc ingS.
e foll Umng-se'cy 4 on King
Death lays 1S’ simile  ion
hor onifica
(1) Metap e (4) Pers
3) Apostrop
o uence to complete
73. Choose the proper ¢4
the following :
2 : t
The guide said th
P. nowhere in the world
Q. a fairer building
R. you will find
S. than the Taj Mahal.
The proper sequence should be :
() RQPS  (2) RQSP
() PSQR (4 PRQS
74. Give the meaning of the following
proverb :
A bird in hand is worth two in a
bush.
(1) To catch two birds with your
hands.
g; 'II‘o tzap birds in bushes,
tis better to be sati ith s
you have thap tq tr;izzd b Wh{it
not yours, gt what =
(4) To be dissatisf s
have, e with What yoy
75. Choose the corre
ct optj
:he sentence : “lon. g Complet
ag—‘____o. — him SInce we et & yeq
(1) didn’t see 2) .
(3) hadn’t seen “ ot say,
) haven't See
76. Whoare the eayy; ki
of Antarctic: ?heSt knowp, inhay;
(1) American Sciens tants
(2) It is has gy, Usts
(3) Dm.OSaUrs ¥S been a desery
(4) Indian SCientists
Paper - 1/C

D
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77.

78.

79.

80.

81.

i

Which of the following words is a,

Adverb ? -
(1) Apace (2) Fury
(3) Meek (4) Face

Fill in the blank with suitable Pronoun :

My son and my daughter are very fong
of

Jire
(1) herself he
(2) himself )y S
(3) themselves ‘he
(4) each other ol

y t
Which of the following is an example of nag
Metaphor ? | 1m

‘he s

(1)
(2)

He is a big donkey.
My heart leaps up when I behold a souF
rainbow in the sky. a tri

(3) The bitter-sweet memories of Fibb
childhood are a source of great and
pleasure. such

(4) The face of the child is as soft as gaspt
the petals of a rose. up

how
frust

Choose the correct option : hem

Study of population is known as box.

(1) Ecology (2) Genealogy ;?;J

(3) Demography (4) Astronomy The 1

this,

Transform the following into a Direct loudt,

sentence : The ¢

Tasked Sheela if I might know her shout

father’. them

(1) Isaid to Sheela, “May I know your ~scene
father ?” and t

(2) I questioned Sheela, “Will I know excite
your father ?” how v

(3) I asked Sheela, “ Can I know youl  declar
father ?” of the

(4) I told Sheela, “May I know your
father ?” Paper

[
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The idiom To ring one’s own bell’
means

82.
(1) to think propery

(2) to indulge in self praise
mit & theft
one’s publicity agent

elow and answer
No. 83 to 90)

tio : . ;

the QUESHOT T ost appropriate gpees

_ G. Vidyalay?, had &
capﬁvated

anship of

watched

urs. All that broke
t or the

and showm

gasp of a

thesilence was @
ous appl

sound of spontane
a trick. Out of his magic wand came flowers,

ribbons and garlands of every pos sible colour
and seemingly unending length. It came in
such quick succession that everyone was left
gasping. One or two young children came
up to examine the thin stick wondering
how it could hold so much. They were really
frustrated. As if that was not magical enough
he made a rabbit pop out of an empty wooden
box. It went hopping around the stage. It was
soon put back into the box and seconds later,
he PU_ﬂed out a rat, soft, white and squeaking.
The little ones seemed & little frightened b
this, while the others clapped 4
iy, i s the pped and cheered
grand finale.

:E;ui:hslrfren did not want it to end. They
them t; be.ncore’, ‘.once more’. But Kim gave
g Thnght‘ smile and vanished from the
e tile e chllch:en were left searching here
ot re for hl_m. Then they walked out
-y wc:; crlt’:coun"cmg what they had seen and

P erful 1t. was. One of the boys Ravi
loudly, it was the best magic show

PaPEr... llc
11

83.

84.

85.

86l

87.

89,

90.

What does ‘e

ncore’ m
(1) Never {2:&;1‘?
(3) Once more @ Tl'i)yw

What did Kim do in the end ?
(1) Performed the act once again

(2) Sat down
(3) Never performed the trick

(4) Smiled and disappeared

What does ‘Century’ denote ?
(1) A period of one year

(2) A period of hundred years
3) A period of fifty years

(4) A period of ten years

Wwhat is the magician’s
(1) M. G. Vidyalaya
(2) Kiran Rathod

(3) Kim Rathod

(4) Ravi

name ?

What is the meaning of ‘captivated’ ?

(1) Astonished
(2) Angered
(3) Arrested
(4) Honoured

What is the meaning of ‘spontaneous’ ?
(1) Happening suddenly
(2) Continuous

(3) Never

(4) Always

What is a ‘Wand’ ?

:11 Stick (2) Bo
3) H X
) B (4) Cloth

Wha-t is the .

(1) Runningmc:anmg of ‘hopping’ ?
(2) Singing

(3) Standing

(4) Ju_[nping

[ P'T-O.
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76, ‘At@EEA Y FOGIREAT
(1) LT A (2) ST T W
(3) ST T W (4) TEH TH T

7. RSN  oh  H SHars S e
(1) 3 i T —
(2) STEATIN: STqY] TR
(3) & T AT,
(4) T V] TR

78. ‘U9 UG T TIE SO &G T
(1) qfea: (2) uTE:
(3) G (4) 9=

79. Ts=-afd gET R
) 59

(3) 590

(2) 905
(4) 95

80. WW—H@%
(1) =13, 37

. sfear aepaf:” gfar afared arEdY | e W a
et e T ST AAEHT: | CATGRT: THEH —aree

emy: gau FRard e | R
82. ﬁﬁqa;qmﬁ:ﬂ?:? —
(1) & (2) 9
@) T (4) o
83. Tu@EvS AT U EEAA ¢
(1) Tt (2) g
_(3) wem (4) T
84, A GATT: A AT g 7
(1) <& (2) T=l:
(@) wEl-all > (4) ke
85. T & M TR TE 2 2 T
(1) 3T S
R, @ = 29
86. ‘m’_ﬁmﬂ"@‘rqﬁ% ‘1;..
(“g;’ W&f“a“‘*‘ﬁ (2) TR
o : (4) mﬁ'{: e

rPTnN
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ﬁ | ag/5
a1 - IV/PART - IV
| | afort / MATHEMATICS
91 | a_b_Cada atb+Camamarm | o1 If%_g‘;,thenvalueofa+b+
A ;
(1l J‘ }*’r"‘»"f;’f; m J’
('_'_,Zr
/ ax? ™ //a:__ (2) ﬁ
4// \,._ .(3)
Y @) 7

| 92. IR 5Swal 1991 F WiEw o, @ 3 W, 92. January 5, 1991 was a Saturday,

1992 ﬁmmlaﬁq-mﬁﬁ’l’ﬂ ? ﬁgﬁé l;igs’r ?; gtlée?week was on

i mﬁ?ﬂ“{{ V (1) Saturday

=) FRER | (2) Tuesday

(3) e (sqem) __ s’;\m . 3) Sunday

(@) dER 1A BEQ,\ (4) Monday
.I -2 -3.|, 1Y3 112 -3
_9_;. T hIfSTg H(g] —G) }_&] } 93. Simplify H(-a-] f[&‘) }_[ 11?] J
: (). -Ad =, r . . | (1) 11

& "U ~ 64

- PN 1
6 g % @

- Ly = %
3) = &m =
64 :

(4) - S No 5

- 24 ,%'{\ < (M ==

94, Wﬁﬂﬂﬁmﬁﬁ%mm eimd 94, To construct a triangle, the pOSs‘b'
(1) 6%, 3.8t 3 aft sides are ibje
(2) 6.3%f,59aR 4.6 (1) 6cm,3cm,3cm
@) 6 sm, Sk (2) 6.3 cm, 5.9 cm, 4.6 cm
s O WL 105 firft, 39 firfy (3) 6.5cm, 105 mm, 39 my,
(4) 3.5%;9.2%,5.3@@ , (4) 3.5cm, 920111-530:11
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B Qelel e
L6 B ;;,,C’
/3,34, 45 = amid e & =afer
Hffswl
(1) J3,¥4,95

(2) T & I T
4) ¥4,43,35

s

95.

5+ 5

96. uﬁmﬁﬁmﬁr@maﬁmﬁ%aﬁ@ﬁﬁ
e g ST £, A el vty 6 AR WE
TNTTGT 81 & ¢
(1) ATea ST AT

(2) SETS I AR
Waﬁtagﬁ
(4) TTSH, TS AR TER
97. 5cmﬁaﬁﬁm%mﬁmﬁmhaﬂm
st 1aRE 1 o STSY T Tl S €
a1 e AT Pt ST e T B Her 1
e ?
(1) 142 )/ >
(2) 54 —
(3) 42 2
(@) 27 /\
98. W%m:ﬁwﬁmﬁwm%ﬂ
(1) 450°
(2)_540°
(3) 360°
(4) 180°
Paper - 1/C 19

A

— " = 2% 44
W% —m
95, ':,fgiﬁge \/5, Q/Z, Y5 in ascending = § +)
(1) J3,%4,%5 = )
(2) None of these 9-
B

96.

97.

98.

(3) #5,%4,43
@) ¥a,v3,%5

Which measures of central tendency
ot affected if the extreme observations
h the ends of a data arranged in

on bot
rder are removed ?

descending 0
(1) Mean and Median

(2) Mode and Median

(3) Mean and Mode

(4) Mean, Median and Mode

ide 5 cm is painted on all its
is sliced into 1 cm?® cubes,
of 1 cm?® will have
ainted ?

A'cubeofs
faces. If it

how many cubes
exactly one of their faces p

(1) 142

(2) 54

(3) 42
@) 27

Find tHe sum of all the interior angles
of a pentagon.

(1) 450° °
(2) 540°
(3) 360° , ,
(4) 180°
[ P.T.O.

N
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(2) 129

(3) 30X

(4) 257

100. A 3B RiFmH 12 fATFAE | B3
csd@iwm= 15 At wa R | C It A

- FEH 20 i ER T | A o 3 T Ay
T @ iwewmi?

(1) 10fR
(2) 40fH
(3) 30fw _~
(4) 20%F

n %

14 42 21
33'55' 22 T Ry

C/Lyaso 7 @) 230

17
e ol
102, (7+2J‘)m%§\°\g_
(1) ,j‘+1
A [2) 2+J—)

4) (\/§+2)
papel' ~1/¢c

101,

(3) 330

._.____

17

"é\-

w?{

Jf

c@“‘ﬂc\w

+

W

9 c\ \o
é" T«‘t(

\L.-J(\'&a it

8,
¥ P

99:

100.

101.

.

ﬁ\ ®"\% L.\L,_

hNeoe .

NN

102,

4 of a pole is in
7

it is pulled out,
the pole still remains in ’
is the total length of the pole :

an 8 meter long pie;
the mud.

(1) 21 metre
(2) 12 metre
(3) 30 metre
(4) 25 metre

A and B can do a piece of work:

12 days, B and C in 15 days, C 204
A in 20 days. How long would A t&
separately to do the same work ?

(1) 10 days \
(2) 40 days ¢
(3) 30 days
(4) 20 days
105
Q14 42 21
H.C.F. o 33’ 55’ 90 is
330
(1 _7_ B —
330 ~
330 o 17 106.
(3) 7 % 330
Square root of (7+ 2\/1_0-) is
(1) (‘EH) 107.
%
(2) (2++5 R
(2+5) e
(3) (vV2+5)
4
@ (V3+2) s
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103. qmaﬁmﬁtqmm@ﬁgmﬂqzﬁgmmﬁra
%Iﬂﬁﬁﬁaﬁ@ﬂm%cmﬁﬂ%,iﬁ‘m
u@ﬁmqﬁumwﬁm? ;

(1) gZcm CA
3 .. Mg
2) <lecm /4
o Y
ey
/(31,1§cm
Q
4) lg[_@+1]cm -
9| 4
104. ﬁ;ﬁ«%ﬁaaﬁq—mmggﬁﬁuﬁﬁ
R g
(A 1)
(2) 3572406 1
(3) 913462 41
(4) 135792 \,w‘
105. nFe?
(1) REaEE -/
@) = &R
(3) A FESA \6 __,\V‘(
(4) @i F2
106. =% 10% = 125 7, @1 102 1 A &M
1 5
(1) = @
1
B

107. 16075 % fordfl d@m & W 24 9 TR
167 @41 T%aA 43 TIA e &, A WIS T
(1) 76 (2) 86,4,

3) 9 4) 56
) B @) 56 "
Paper-1/C ’Lk‘% 9
" \ o
ot
™
)

. Which of the following numbers is

. Whatisn?

\'t

O 3
, \/,&9, s

ALY a2y
4 GaenC

a/

Jateral tr%
103. A squarc and ‘”@qmﬁside of tri e\

de in common:

have a si : :
o 4/ cm long, find the pcnmeteroft e
figure obtained. ) M " . 2;‘
(1) 6?- cm ,\’/ ML
" =y @«
(2) glem
3 /
iR ([2° <7 -
; | Y
(4) E([ﬁﬂ}cm )fb g
9| 4 i o

divisible by 99 ?
(1) 114345

(2) 3572406

(3) 913462

(4) 135792

(1) Rational number
(2) Integer
(3) Prime number

(4) - Irrational number Ko
<

;2

. If 10% = 125, then value of 107%¢is &

1 1
3 @ 35 @\t‘ O
1 4
(3) —— (4) 25
) 5y

\f
16075 is divided by a number to give
quotient 167 and remainder 43, then
divisor is g
(1) 76
(8) 96

(2) 86
(4) S6

[ P.T.O.

\
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agwaﬁﬁﬁaéﬁ@a:%-.
o 387 ofT
;ﬁgjﬁiﬁ:@mmﬂﬁla
FemFe !
i 43, 8.
@) 14,5,
%
110. @ o 1 &l R T 451 8 cm §, 39
T 3 Se % e & forgehl 9T 16 cm

HEEEIEISEEIGE

+Tl) 4cm (2) 12cm
(3) 6cm (4) 8 cm

109. .

(2 17,1
(4) 11,9

111,
2, o & a1 By R &

(1) 331%3111.;/
3 )V

A

)

@ 331lo,mm
8
®) 33%%3Tﬁ

(4) 33%%3@

112. 121012 128vmy ¢ R

e ' 15
‘-\\)‘" *\L
’/((5;13 B A
4) 2 Qe
2 ERL
’aper—'lfc VV N

o

Tt foet g o1 369 e 30 v e % :

2

108.

109.

110.

111,

112.

\2
>R

‘more than five &

LlAaw n--susc‘b‘

ositiveé P*
per of P
The num

¢ two numbers is thre,
mes the smaller ang
imes the larger ang
aller is 71. What ar

Twice the 1arger 0

the sum of four ¢
three times the ST

the numbers ?
(1) 43,8
(3) 14,5

(2) 17, 1
(4) 11, 9

A square with a side of 8 cm and g
rectangle with length 16 cm have
same area. What is the breadth of the

rectangle ?
(1) 4cm
(83) 6cm

(2) 12 cm
(4) 8 cm

If cost price of an article is 3 of its

selling price, then profit or I%SS
percent is

(1) 33 -é % profit
(2) 33 -81-% profit
(3) 33 —é- o4, loss

(4) 33 —:15 % loss

remainder is

(1) o
2) 4
3) 3
(4) 2

S 70
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109..ﬁmﬁﬁ@w@ﬂw@i1?
¥ o @3 @ & e w1 HE
ﬁﬁ{ﬁ@%m@mq}nﬂ%l%
s ER !
uf 43, 8.

(3) 14,5,

(2) 17,1
(4) 11,9

3

“
110. T o1 %1 8% fg T 491 8 cm B, 39
194 F 7% & UK & Forgehl &8 16 cm

2 | 3T I 5SS g W |

1) 4cm (2) 12 cm
(38) 6cm 4) 8cm

111. 3 forelt g 1 56 per s v 3-
I L

(1) 33le,
3 WL/L’?

@ 33%%@1 . \ ¢
s

A

(3) 33-:3-%311‘?1

(4) 33%%3@1

112. 121012 % 12 {ypy
(1) 0 aq-(vﬂq’qﬁ%
4
(3) 3 :
(4) 2

aper — 1/C

108.

109.

110.

111.

112,

more than fiv

4 prime intege, X

r of PoSitive

The numbe
< 50is 2) 25
gy W
o numbers is thre
Twice the 1ar8€T of W the smaller apg

e times
imes the larger anq

t
the sum of four “llor is 71. What ar

three times the S
the numbers ?

(1) 43,8

(3) 14,5

(2) 17,1
(4) 11,9

A square with a side of 8 cm and 3
rectangle with length 16 cm hav
same area. What is the breadth of the
rectangle ?
(1) 4cm
(8) 6cm

(2) 12 cm
(4) 8cm

If cost price of an article is 3 of its

selling price, then rofit
percent is P e

(1) 33%% profit

(2) 33 é-% profit
) 33 -;- 9% loss

(4) 33231-% loss

Whe.n 121010 s
I'Emainder 1812 18 d1V1ded by 1 2’ the

(1) o
(2) 4
(3) 3.
4) 2
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h

117. If Arithmetic M

ean of a given dat&
=GaﬂdeHM%

N U AT = A, 2 an
117. R freht R A offehe F1 i is A, Geometric M€
mﬁmm:ﬁﬂmmmw_ ‘ mcan=H, then
], @ (1) A<G2H
1) A<G2H
w (2) A2H2G
(2 A2H2G
@ ascan @) AzG2H
(4) A<GgH (4) A<G<H
118. 3R 2 Trerafl F1 o1 quT A% FH: 118. The difference and the product of twg
S TUT 36 &, Tt 39 oJewn! T A=W 2 numbers are 5 and 36 respectively. Then
; the difference of their reciprocals is
@ =2 (1 S
36 36
2) Z
= 5 2 2
Pt 5
@ 2
9 3) S
9
g2t
26 S
36
e R Tforefyg
Hra7 ST | 119, Who yag the self taught g
(2) Bﬁﬂaa (1) Al'yabhatta Ty
(3) e gy (?)" Harish Chandrq
(4) Arerang R (3) Srinivas Ramanyjay,
) Shﬁdha’acharya
120. et =mt ) -
améﬁémﬁaﬁgﬁm T 660 m23 | 120, The area of
&"'?T?llm% a Eﬁm%lwﬁmﬁﬁ 660 mgaﬁdfourWMIS of TO0Hn
: Wﬁmqﬂm width, | length is twiga 1,5
1) 200 m? ¢ hen a [height of the roopy ;. C its
(2) 75 m? i (1) 200 2
(3) 100 m? o™ (2) 75 ma :
((41) 150 mz U‘ ﬂﬁ (3) 100lnrl 2 =5y =%
m Q) m
W a\ (4) 150 m2 L9 =
Paper-1/c 7 . m
, 5 ' 24 : r 0" *
é(CﬂQﬂ F%kf é(;
QLA™ H“W\ 30
C)(so"l\' 2 ) e
§ AT TR
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Eﬁ s - V/PART - V STUDIES

L . d in
| ot ST | ENVIRoNMEN’I‘A ) Jersity 19 foun
: : Most BIO
Gﬂ?ﬁ% 121. ) Valley
tﬁmmaﬁﬂi ﬁﬂ?ﬁ (1] Flower S 1
R ang Valley
S (2) B2 ¢ Valley
Ao (3) Silent Vvalley
G gt {4) /BuntS
. ¢ is not true for LPG ?
- ¥ ol # wm swe R ? 122. Wha l
1) wEsia—" (1) Aclean fuel
o) i e F e (2) Methane emitting
3) R e @ Se TT (3) Burn with blue flame
4) v 3ofta TR (4) High calorific value
123, TRRTS & & U § 123. The components of the ecosystem are
1) dRemsg (1) Plants and animals
2) SR, TR T I (2) Producers, consumers and
() SRE 3 SN Q) gecomp RSER
() 7w 3 v (@) BI:Od.ucerS and consumers
1otic and abiotic substance
124, e .
T ‘Sc 124. Tropic of Capricorn is
W 237 (2) 23°s (1) 231’ -
2 / 2 [3] 23—5 S (4) 1 °
23= N
128, “Bipere 1
HT:TQ:; ?:mﬂa&mfmﬁﬁm? 125, w, =i 2
. AW, MR EEEi | th «
2) . fazrm () pr g D e. N €cosystem” ?
) o, 3 (2) D Witt;u?llshra
4) %, v - - B) Dr, g %
v B et T da
?‘r-:ﬁ::ff .mﬂﬁﬂ:m'ﬁﬂ-féﬁw 126. The Prob) r
X " Oblem
() om w2 i Arsenic jg makimwater Pollution with
@) wfFerg e i ' (1) Uttay Prage i in
) g i o Vst B"nga:h
" 9wy ::') Sthar
P 1o ) Madhya P"ﬂdeah
25

M
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128. mwmmmwm
(1) 1960 % 3

() 197583 ¢

(3) 1972%.%

(4) 1962% %

129, STgEe s d st s 8 3 v
T e B - e 2

(1) w3

(2) s=w

@) 3N B

(4) Eﬁmw' —

127.

128,

130.

26

131.

i Ind.a

of
is drier becauseé
(1) low temperature effect

(2) pressure effect
(3) rain shadow effect
(4) high altitude effect

The Wildlife Protection Act was
passed in

(1) 1960 A.D;

(2) 1975 A.D.

(3) 1972 A.D.

(4) 1962 A.D.

(1) Insolation

(2) Heat budget
(3) Solar constant
(4) Solar energy

Fundarnental dutieg
which country’s Coﬁs
(1) Germany

(2) USSR

(3) Usa

(4) United Kingdom

© adopteq from
tltution ]

~

In a food chain of grasslap
the top consumers are

(1)
(2)

Cosystem,
Herbivorous

Either carnivoroug and
Herbivorous

(3)
(4)

Bacteria

Carnivorous
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132, STEHSH H TIE RN N el & ged 9
(1) SHdOHSs e

(2) FEEHSH
(3) Wewew I

(4) shniea __—

VR T8 g Safafavar sifufm wita
feman T o

(1) 11w, 1972

@) 11 &=, 2002 ~

(3) 16 TR, 1990

(4) 10 fem=x, 1980

134. Tr=ffaa § @ - FY FA 6t e
qaiaRoT & ¥ HEEE @ 7
(1) TR —
(2) o= @l
(3) it 391 Al fore st et by
(4) TG ESE H 9 ST

133.

135. 37 gui gaftd 8
(1) TEEEe uEs |

(2) =i 3=

(3) Ufafes fasd

/I_ﬁ] T HE |

136. 2oeq 25eY UF & A &
(1) 2 TS %2
(2) 923 He
(3) aeE AFTEARE S _—

(4) 92 Al e

137. it o1 ot srafu &
(1) s -7 s
(2) I@Ey —
(3) fafm
(4) Fewireret wiwr

FRper-1Je

27

132. The main atmospheric layer near the
surface of earth is
(1) Stratosphere
(2) lonosphere
(3) Mesosphere
(4) Troposphere

The Biodiversity Act was passed by the
Indian Parliament

(1) 11* May, 1972
(2) 11" December, 2002
(3) 16™ October, 1990

(4) 10t December, 1980

133.

Which one of the following agriculture
practices is eco-friendly ?

(1) Shifting cultivation

(2) Organic farming

(3) Cultivation of high yielding
varieties

Growing plants in glass house

134.

(4)

Acid rain is concerned with presence of
(1) Hydrochloric acid

135.

(2) Boric acid
(3) Acetic acid
(4) Sulphuric acid

WWEF stands for

(1) World Wide Fund
(2) World Watch Fund
(3) World Wildlife Fund
(4) World War Fund

136.

137. The valley of flowers is located in

(1) \Jammu-Kashmir

(2) Uttarakhand

(38) Sikkim

(4) Himanchal Pradesh

Scanned with CamScanner




139.

140.

141.

142.

143.

e

3, < orafen &

(4) R T
PR’ T S e

) NEIER

(3) WSERS
mﬁwﬁﬁmﬁmm‘?%
(2) &Y

(1) ffetd
(4) WA
(1)
g s/ @) T
@mmm%
(1) SRR
() SRR
(3) FaR =
(4) TWETWH
a3 “Srame T wree ferdt T ot
(1) 1972%_- () 1985 3.
(3) 1981%. 4) 19737%.

o T T e e o e @
(1) dfF=A 4

% Aaea (1916) 7 2 % ney gag o 7
(1) ﬁﬁﬂa@“?ﬁ“*“‘ﬂ),

2) 779 %A 9 T & % g
(3] ﬁﬁﬂﬂﬂﬂ?ﬁﬁﬁiﬂm
4) fg @ G & HA

Paper — 1/C
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138.

139!

140.

141.

142.

143.

144.

Wmcg1 ith the

Which of the fol°
i on in India ?

is primarily Conceﬂllluti
measurement of p C;
(1) Green Tribuné

(2) Survey of Indi2 jssion

(1) Sicily

(2) Rockies
(3) Andes

(4) Hawaii
Tsangpo river of Tibet in India 18
known as

(1) Ganga

(3) Brahmapu

(2) Indus
tra (4) Yamund

The Pole star is
(1) North star
(2) West star
(3) East star
(4) South star

‘Project Tiger’ was started in India

(1) 1972AD.  (2) 1985A.D.
(3) 1981 AD. (4 1973 AD.

Kanha National Park is located in which
Indian State ?

(1) West Bengal

(2) Gujarat

(3) Tamil Nadu

(4) Madhya Pradesh

The Lucknow P
between act of 1916 was made

(1) The Con
T gress and the Muslim
(2) The Modera
tes i
(3) The British andatxlli IIQXtI_'emmtS
(4) The Hindu ang the MI:JdlIE'ln
slims
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% - ST e © 7
145. T:‘\"'If'ﬁ ﬂﬁﬁ}ﬁw’; g 145. Where is the Wild Ass Sanctuary ?
(1) (R (1) In Rajasthan
@) fen A (2) In Bihar
(3] ﬂﬂmﬁ (3) In Madhya Pradesh
ﬁ/ (4) In Gujarat
(4) LSl ,
o gafifa F7dl ® 146. Carbon dating refers to
146- ﬁ%ﬁﬂ mﬁi“lﬂﬂq (1) Measurement of strength of rocks
(1) H@Fﬁjﬂ (2) Allof these
id (3) Use of carbon for writing on white
(2) gmm%@ﬁgﬁ{aﬁﬁ@“ voard
) 3 AR -g%;?ﬁ at %quﬁr‘!ﬁaq (4) Measurement of age of bones or
(4) et el A materials in ancient sites
T
o = & ) 147. The Constituent Assembly adopted
e &5 T2 T e National Anthem on
147- a:;:ﬂ 950 (1) 20 January 1950
(1) 20 ' (2) 13 November 1949
) 18719497 3) 21 May 1949
(3) 1 7S 1949 (4) 24 January 1950
(4) o4 s 1950 o
aﬁaﬁwﬂ% 148. BT e atration of 2
. (1) increasing conce .
e (1) & | ﬁﬁaﬁwﬁﬁa@?ﬁ (R toxic substance 11 the tissues
/‘;{;T ver time
i (2) all of these . _ .
(2) ?ﬁﬁﬁ af q% (3) to increas¢€ the siz€ of picturé usmg
e g A e A computer
S}: SaF :;Rﬁ'q’% (4) increasing size of organism
149, FrefrEd 5 & e SraHed Al s aed | 149 Which of the following 18 not a abiotic
| iR component of biosphere ?
/W ,/ (2) HrERIE (1) Protein (2) Phosphorus
(3) FF (4) T (3) Fungi (4) Soil
150, 1A 7@ ST @1 e afeud 150. The heac-iquaallr.tei of (t}rggn Peace
1 :{msﬁﬁ ) FrraTh! | International 18 ocated 11
(3) g i (4) fereeft (1) New York (2) Nagas
@ - @ (3) Amsterdam (4) Sydney
\o
29
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